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2 How many altogether?

3 Add two Q each time.

(a) Make 14 (b) Make 17. (c) Make 15.

Addition to 100: facts to 20




5 crabs on the rock.
6 crabs in the pool.
How many altogether?

7/ fish in the net.
/ more swim in.
How many now?

5 Usetwo / [ each time.
What totals can be made?

Addition to 100: facts to 20




3 Add the numbers on

(a) the red bibs (b) the blue bibs
(c) the green bibs (d) the yellow bibs.

4 (a) 12 + 4 (b) 6 + |3 (c) 14 +5
(d) 7+ I|I (e)2 + 16 Il +3

5 (@ I5+ W =19 (b) | + =18 OB +2=13

Addition to 100: teens number and a single digit
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| Find the sum of the numbers on

G

(a) the blue paintings (b) the green paintings

(c) the red paintings (d) the yellow paintings.
2 (@) 6+ || (b) 0+ 14 (c) 12+ 7

(d) 3 + |5 e) Il + 4 (f) 13 +5

3 (@ I2+W =15 (b) 19 + [l = 19 QOE+3=17

4 Make 20.

Addition to 100: teens number and a single digit



Make each price 5p more.

(a)

90 bees in a hive. 8 more fly in.

How many now?

(b) —

(a) 30 + [l = 38
(d) @ + 5 =36

(b) 84 + M =87
(e) B + 72 =77

Addition ‘to 100: two-digit number and a single digit

)9+ H =30
)Ml +6=99

HOME ACTIVITY 5




| Add 10. =
00 e% SA— RS L e P AR =2z o\
(<) 2‘1 (d) 51 | (e) 68 | f) 75

(a)

(b)

50 add 20 60 plus 30

xe
R | @35+40 ©)50+29 (963 + 30

(d)70 + 18 (e)20+75 () 3l +60

(a) 24 + B = 64 (b)46 + B =76
()20 + [l =90 (d) l + |5 = 45
(e) @ + 70 = 9| )W+ 19=79

Addition to 100: two-digit number and a multiple of ten



Addition to 100: adding 9, 19 ... and 11, 21 ...




Addition to 100: two-digit number and a teens number




(d) 2% + 34 | Y (d)43 + 52
 (e)61 + 25 , ()23 + 37

EL: = .-
., =

36 litres

*—— 23 litres

3 How many litres altogether are there when Pete mixes

(a) the red and blue paint (b) the yellow and green paint
(c) the yellow and red paint  (d) the green and blue paint?

52 t
-l a litres 4
T >
83 litres

(a) How many litres (b) How many litres
of red paint? of blue paint?

Addition to 100: adding two-digit numbers

S
:




2 Draw (a) two things you can buy for 45p
(b) three things you can buy for 80p.

3 Make 100.

CHECK-UP 5 Bl HOME ACTIVITY 6 Addition to 100: two-digit numbers



How much altogether?

(a) Add 85 and 7. (b) 8 plus 44 (c) 26 add 5
(d) Find the sum of 57 and 4. (e) Add 8 to 66.

What must be added

(a) to 78 to make 81 (b) to 7 to make 35
(c) to 88 to make 96 (d) to 3 to make 1007

Addition to 100: two-digit number and a single digit, with bridging



65 passengers | 7 passengers

| How many passengers altogether?

2 Find the total.

3 @73+ 18 (b) 15 + 76 (c) |4 + 67
(d) 28 + |7 (e) 48 + 18 (f) 59 + 13
(g9 36 + W =52 (h) W + 27 = 45

4 Choose one adult ticket and one child ticket
each time. Find the total cost.

S ————

adult adult child child

"45p | [68p | [ 15p | [ 17p

adult adult adult adult

77p Y [ 56p 18p 16p

Addition to 100: two-digit number and a teens number, with bridging




| Add the numbers on
(a) the blue helmets (b) the red helmets.

2 Find the sum of the numbers on
cars of the same colour.

3 (@ 63+ 28 (b) 35 + 26 (c) 48 + 25
(d) 37 + 54 (e) 46 + 36 () 38 + 38
(g 67 + W =19l (h) 25+ = 72

Addition to 100: two-digit numbers, with bridging




2 (@ I5+6+ 15+
(c) 12+7+8+9

3 Copy and complete.
(@) 17+ +3 =32

") W+ 13+ 13=234
e I19+H+ A =30

(b) S5+ 11+ 12+ 4
() 6+7+4+2+7

b) 7+H+ 11 =22
(d) 19+5+ 0+ 10=239
) W+ A+ @ =40

4 Write five different numbers that add up to 35.

HOME ACTIVITY 7

Addition to |100: adding several small numbers




| Find different ways to make 20.

(a) Use two
numbers
each time.

9 5 10
it 15
I3 16 | 11

il

|I
|

| = I I | E | |
2 Write the missing numbers.

 Add ~Add | less

26. than 40.

' Add the sum @ Add the total
of 2 and |7. of 7 and 5.

Add Add |

| I $ double |

Addition to 100: using and applying




| Find the missing numbers.

2 Find the total of

(a) the blue boxes and the white boxes
(b) the red boxes and the yellow boxes.

: Addition to 100: using and applying




(b)

9 are stolen. / are eaten.
How many are left? How many are left?

(b) Take 9 from 16,
(d) 12 subj:_r{::_ct_-& et

- 3 (a) Subtract 7 from | 1.

y - (<) IS minus 8

4 (a)l4- =5 (b) 12—l =6 oIl -l =7

(d) @ -8=8 (e) Ml -5=38 () M-4=19

Subtraction to 100:; facts to 20
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How many fish have been sold by (a) Ann (b) Tom??

4 (a) |2 less than 20 (b) |16 fewer than 20
(¢) Subtract 15 from 20. (d) 3 less than 20
(e) Take 20 from 20. (f) 20 minus 4

Subtraction to 100: facts for 20
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(c) |15 — |3

R e

) (a) | 3 subtract I2
(b) |3 subtract ||

H_mr—-—u.(_ﬁm:mﬁ'—tm.?‘#*
(c) | 3 subtract |10

cod | salmon shark
|3 kilograms }) £’

Find the difference in weight between
(a) the shark and the cod

(b) the shark and the salmon

(c) the salmon and the cod.

4 (a) 19- M =5 b) 17—l =4 (o) I5-H =3

Subtraction to 100: facts to 20



3 (a) 19 minus |5 (b) 17 subtract 16
(c) Take 10 from |6. (d) Subtract || from |4.

(e) |8 take away |2 (f) 19 minus |7

CHECK-UP 7 B HOME ACTIVITY 8 Subtraction to 100: facts to 20




| Copy and complete.

4 (a) 69 grapes.
5 are eaten.
How many are left?

~&P 0~ (b) 36 dates.
d Q - 4 are eaten.
How many are left?

5 (a) Take 2 from 45. (b) 58 subtract 4
(c) Subtract 6 from 97. (d) 69 minus 8

6 (a)47— W =43 (b) 68 — [l = 65 (c) -6 =82

Subtraction to 100: single digit from a two-digit number
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| Subtimct 10 from 2 50 less than

(a) 47 (a) 85
(b) 58 (b) 59
(c) 64 = () 9l
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ﬁ;ﬂz—eo:l . 5 (a)69—40 = B

(b) 43-20 =

(b) 84— 40 =
(c)83-70=H (c)99-80 = H
(d)57-30=H (d) 60— 30 = B

" . ok _ ——— -

6 (a)56-— M =36

(b) 71 — M =3I

(c) - 30 =65

(d) - 60 =28

Subtraction to 100: subtracting multiples of 10
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1 1] Subtract 11
éf from ;
“ (a) 38
: (b) 64
(1 () 85
S /21 BN ;
A= )N

3 |[ Subtractq |

;"'-"’ from '
N ()26
(b) 65
A : (c) 94

DT

o (e}, 77— 39
(c) 87 — 61
(e) 62 — 41
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6 (a) 95 take away 31
(c) Take 29 from 46.

92 soldiers.

Subtract 19

from
(a) 78
(b) 33
{c).o52

(b) 66 — 51|
(d) 91 — 79
(f) 60 — 39

(b) 84 subtract 49

(d) Subtract 31 from 80.

Subtraction to 100: subtracting 11, 21, 31, ... and 9, 19, 29, ...

CHECK-UP 8



| There were 48 questions in a test.
How many did each child answer correctly?

I had (b) [ had (c)
|5 wrong. 4w )12 wrong,) @™,

R I hﬂd
'%.-,,-. | 7 wrong.
N\

2 (a) 86— 15 (b) 99 - 17 (E)83—IIT’
‘_ (d) 69 — 14 (e) 75 - 12 (f) 78 — 18
| 3 (a0)49-16= H 4 (a) 57— = 45
. (b) 77 - 16 = B (b)85- MW = 7|
(c) 58 (c) - 13 = 54
(d) 56 — 13 ()l - 16 = 20
5
(a) |6 are broken. (b) 14 are torn.
How many are not broken? How many are not torn?
6 | (a) Take |7 from SCI.l Z(b) Subtract |5 from 97)

Subtraction to 100: teens number from a two-digit number
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Javelin throws
Marco — 78 metres Antony — 44 metres
Julius — 56 metres Peter — 85 metres
Paul — 62 metres Brutus — 33 metres
Ty — TR ~ A0
‘q.\,",f 7 "'.,"VWH' AT ¢ iy | I"J‘rh 1‘5-‘5 ..U I

3 Find the difference in metres between the throws of
(a) Marco and Brutus (b) Antony and Julius

(c) Julius and Marco (d) Peter and Paul.

4 VVhat is the difference between the longest and
shortest throws?

5 (a)57- W =32 (b) 85— W =41 (c) 77 — W =54

Subtraction to 100: two-digit number from a two-digit number HOME ACTIVITY 9
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35 rowers t—=%

= 23 rowers —<

WW/W/

| Find the difference between the number of rowers in

(a) Troy and Juno (b) Mars and Rome.

2 How many more rowers are in Rome than in

(a) Troy (b) Juno?

3 How many fewer rowers are in Mars than in
(a) Juno (b) Troy?

y 0

e There are 99 Roman sailors altogether in the three galleys.

* There are |2 fewer sailors in the blue galley than in the
green galley.

* There are 43 sailors in the green galley.

How many sailors are in the
(a) blue galley (b) red galley?

Subtraction to 100: using and applying



| How many are left?

3 @23-8=H0 @®2-4=H ©W2-9=-18

(d)23-W =18 (e)24-W=17 H24-H= 19

4 Which fruits cost 17p?

Subtraction to 100: single digit bridging 20




2 (a) 72 -3 (b) 54 — 6 (c) 60 — 8
(d) 81 — 2 (e) 95 — 9 (f) 32— 8

3 (a)84-6=H b)R2-4=H ()50-7=1

(d) 71 —H = 69 (e)82-HM=78 (f)34—-H =29

4 Who will have 36 left?

Take away 8)

iy | Subtract 5)

SR Tl S

HOME ACTIVITY 10




| Find the difference.

2 (a) 81 — 12 (b) 65 — 19
() 72 - 14 L 16

4 ()21 -H =19 (bi4|—.=28

(d) B -13=38 (e) H - 15=77

Subtraction to 100: teens numbers, bridging

3 How many more flowers are red?

(c) 53 ~ 17
(f) 97 — 18

(c) 62 — B = 48

OM-16=74

HOME ACTIVITY 11




| How many stickers are left?
ay 26. (b) Give away 38.

(a) Give aw

—‘ r
e |
: = g E
i = "'_ t
- L |
. |'r -
B 3
W g
= i &

T 7 (b) 92 — 64 (c) 68 — 29
(d) 86 — 58 (e) 95 — 46 (H 70— 24

3 (a) How many more stickers has Eva than

® Alun e Babs?

] 5 ¥

- Ll

i
(b) How many fewer stickers has Babs than Alan?

4 (a)75-H =57 (b) 67 — H =39 (c) 9% — M = 56

(d) B —47 =35 (e) @ —37 =57 (f) B - 36 =36

HOME ACTIVITY 11 Subtraction to 100: two-digit numbers, bridging




Tokens saved

Class |

Class 2
Class 3
Class 4

i-a—a'\— s Dl b s

| How many more tokens has Class 3 thﬂ;‘l
(a) Class | (b) Class 2 (c) Class 47

2 What is the difference in tokens between

(a) Class 2 and Class 4  (b) Class 4 and Class | ?

3 (a) 34— 13 (b) 55 — 12 (c) 77 - 34
(d) 98 — 85 (e) 76 — 46 (f) 88 — 53
(g) 58 — 27 (h) 97 — 32 M) 67 - 35

4 Class 3 has 89 tokens. They use 38.
How many are left?

‘subtract 15|

i !

Subtraction to 100: subtracting two-digit numbers



| How many are left?
(a) Sell 28.

(c) Sell 35.

2 (a) 66 — 38 (b) 88 — 39 (c) 75 — 47
(d) 67 — 29 (e) 83 — 45 (f) 98 — 35
(g) 7| subtract 26 (h) Take 24 from 52.

Subtraction to 100: subtracting two-digit numbers, bridging




| Copy and complete.
(@) - (b)
A+ 8= 17

8+9=MH
17-9=1

/ 7-8=M

() ([ e—= ‘ (d)

(2T

2 Use the addition fact.

Write two subtraction stories.

-
Ir 2 4 gy
4

Y

ol

23 + |4 =37

|, | .. { | = ’ll"l v
| 1 ;.q'.'-i . - :.- .1- o
A0 i
I, 42 _I_ 2 3 — 65 ., Ly i) 6 5 l pa—
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Subtraction to 100: linking addition and subtraction




| Copy and complete.

(a) | (b) ess
(81422
- . <
8+ 14=H
6+7=H 14+ A = B

13—-6 =1 22- A =-H
13-7=18 A-14=H

2 Write 4 number stories for each display.

(@ |  ®)
BIE
_ |
() | i (d) | T
(8)[19] /27 | B3l g [s]

3 Use the red number and two of the other numbers.
Write 4 number stories.

b
&) "
23 @ 15
1y

Subtraction to 100: linking addition and subtraction
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Find the difference between the numbers on the

(a) red and yellow buses (b) brown and red buses
(c) blue and green buses (d) yellow and brown buses

(e) brown and orange buses  (f) red and green buses.

(a) What kind of number is each answer in question |7
(b) What kind of number is on each bus?

(¢) What do you notice when you subtract an odd
number from an odd number?

(a) The number on each of these buses

® is greater than 70

e is less than 100 el ey ) IN i<

e has a difference of 5 S ES——
between its two digits.

What is the number on each bus?

(b) Which bus does each person drive?

4 My bus \

<> E__4& A= E 5 number is 22

Y less than Encl’s./

Subtraction to 100: using and applying
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(b) how much they have left. ‘ - :J 2013(;

Alan has 80p. Beth has 68p. Carlo has 75p.

(a) how much the tickets cost

Don has 96p.
_ .. ..;r;’:';

My 2 tickets My 3 tickets
cost 66p. cost 93p.

2 (a) Whut is the difference between the cost
of Amy and Ron’s tickets?

(b) Draw the tickets Amy and Ron bought.

TOPIC ASSESSMENT Addition and subtraction to 100: using and applying




| Find the cost of two of each.

(b)
8p

(a) 2 x 3 (b) 2 x O ()2 x7 (d) 4 x 2

(e) 9 x 2 (f) 2 x | (9)-2 x2 (h) 6 x 2
H2xH =14 2 x Ml =20 k2 xHl =8

o < (Two fives are ten and
R eight makes eighteen.

(a) Kate

Multiplication: table facts for 2




7

5

| How many of these are carried on ten space buggies?

(a) drills (b) blasters  (c) lasers (d) crushers
2 @ 10x4 () Ax10 () 10x0 d) 10 x 6

€ 2x10 @®MI10x10 (g9 10x3 () 1x10

i) 10xH =70 () 10 x @ =50 ()10 x l =90

ACTIVITY BOOK Multiplication: table facts for 10
Page 24




| How many sacks are there on

(a) 5 green trucks (b) 5 red trucks (<) 10 blue trucks
(d) 5 yellow trucks  (e) 6 blue trucks (f) 8 blue trucks
(g9) 5 blue and | green truck  (h) 4 blue and 5 red trucks?

2 How many wagons are pulled by

(a) 9 engines (b) 5 engines (c) 7 engines?

3 There are

(a) B helmets in 3 boxes
(b) H helmets in 8 boxes
(c) B helmets in 6 boxes 5

Safety Helmets
(d) B helmets in 4 boxes. ’ g

4 ()5 x M =5 (b)5x Ml =0 c)5xH=10
(d) Il x 5 =45 (¢) Ml x5=15 (f) ll x5 =50

Multiplication: table facts for 5 CHECK-UP 11 HOME ACTIVITY 12 ACTIVITY BOOK

Page 25



| How many

(a) red flowers in 3 baskets (b) blue flowers in 7 baskets

(c) yellow flowers in 3 baskets  (d) blue flowers in |0 baskets

Soil Bark
10 g | Wz,
litres litres | =

—

How many litres in 3 sacks of

(a) Plant Food  (b) Soil  (¢) Bark  (d) Compost?

3 Plant Food is also sold in 7 litre and 20 litre sacks.

/i huve one\ (Cl) WhO hGS more /— I h'ﬂve \
20 litre Plant Food? three 7 litre

sack. ks. i
. (b) How much more? — '\ ™ = %)

(¢) How many litres are there
in three 20 litre sacks?

4 @3 xH=0 ®I3IxE=12 ()3xM=6
dEx3=3 (¢l x3=19 ) M x 3 =24
@3xMW=15 h)@x3=27 (H3IxMW=18

HOME ACTIVITY 13 Multiplication: table facts for 3




T

Adult £7

l BORO VALE F. C

N

Match tlckets

Chlld £4

_Family £10 |5

| How much does each have to pay?

- ("4 Adult)

tickets

3 (a)4 x Wl =24

(d) Bl x 4=20

Multiplication: table facts for 4

/"3 Child )

tickets

please. ,

(b)4 x Wl =0

(e) Bl x 4 =36

(<)

tickets

please. )

_..'__'II,.-' P = W ..-.l
B, -z it
A

= - o)

i L] ==
W~ n
:Il.i_".l'll .'.:I-""I-
AR ~

--\.
\“""u'-:

B,
,H

A
..

()4 x W =4

(f) B x 4 =40

CHECK-UP 12 HOME ACTIVITY 14




— 8 sacks

+ 6 barrels 3 ngsI

ach wagon has =

o
—_— .

-Z's, =
-l

| How many barrels of water are on
(a) 3 wagons (b) 4 wagons (c) 5 wagons?

2 How many bags of flour are on
(a) 4 wagons (b) 7 wagons (c) 9 wagons”?

3 How many sacks of beans are on

(a) 3 wagons (b) 4 wagons (c) 5 wagons”?

N \

A"

b4 (@)4x5 (b) 4x4 (0x5 \

d)3x3 (e) 4x7 (f)2x4 |

@5x9 ()10x3 (@H3x5

— = T

mE— 2 ﬂmu— 5 .
T Tl e il o - :

s () x5=50 ()M x4=12 FBEx3=1I5

Multiplication: 3, 4 and 5 times tables
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| How many dollars does it cost to buy
(a) 4 pots (b) 5 shirts (c) 4 picks

(d) 3 hats (e) 10 pots (f) 5 hats
(9) 10 shirts  (h) 6 picks (i) 9 ropes?

2 (a)5x9 (b) 2 x 4 ()4 x0
(d) 10 x 8 (e) 5 x 3

3 How many candles are in
(a) 2 boxes (b) 4 boxes?

4 How many biscuits are in
(a) 5 tins (b) 10 tins?

5 (@2 x MW =14 (b)3 x M =30 (c) 10 x M =40

(d) B x 5=25 (e) M x2=12 OB x10=0

Multiplication: 2, 3, 4, 5 and 10 times tables HOME ACTIVITY 15 ACTIVITY BOOK

Page 27



| How mang

(a) ¢ in 2 boxes
(e) ﬂ in 4 boxes (f) in 10 boxes?

in 3 boxes

in 4 boxes

multiply 50 by 5

3 (a) 3 x40 (b) 10 x 30 (c) 4 x 20
(d) 30 x 3 (e) 40 x 5 (f) 50 x 10

4 How many

(a) balloons are in 2 packets

(b) beads are in 5 packets

(c) marbles are in 4 packets?

Multiplication: multiples of 10 by 2, 3, 4, 5 and 10




rhino =y \\

- o

crocodile

| Find the cost of these models.
(a) 2 rhinos (b) 2 snakes (c) 2 lions

(d) 2 crocodiles (e) 2 elephants (f) 3 snakes

(g) 3 lions (h) 3 crocodiles (i) 4 rhinos

12 (a) 2 x 33 (b) 2 x 42 (c) 3 x 3
(d)3x22 (e)5x Il (f) 2 x 43
(9)2x35 (h)4x22  (i)3x33

3 How many models are in

(a) 3 sets of farm animals

(b) 2 sets of dinosaurs

(c) 3 sets of zoo animals?

Multiplication: 2-digit number by 2, 3 and 4 HOME ACTIVITY 16




| Find the cost of

° . “g Spacepops!!

G 2 +
iy >

!
L]

(@) How many Q

were bought?

Mt = & BT A e e
T e g
- T 3 ¥ =
P =
T o e E
=T - -
e 1= s

(b) How many Q
were bought?

v

[ spent exactly £1.
I bought 10 Spacepops of one

B

\colour and 5 of a different colour./

Which two colours of Spacepops did the Zonk buy?

TOPIC ASSESSMENT

Multiplication: using and applying




| Share equally between 2 people.

|6 badges

| T-shirts
2 Divide.

(@) 4 + 2 (b) 14 + 2

(d) 6 + 2 () 0 + 2

3 There are 10 tickets left.
How many people can buy 2 each?

’j 5# (ﬂ)—ofl4 (b) half of 12

(c) ; of 8 (d) half of 4

(f) half of 16 -

5 (@)yof @l =5 (b) 5 of H = | (c) &

(dyhalfof ll =9 (e)half of =0 (f) halfof l =7

Division: by 2, halving




| There are |10 seats in each row.
How many rows can be made with

(a) 30 seats (b) 80 seats (c) 50 seats?

TR L dF e} -.- quﬁﬁﬂm "-L-‘:l. - it "

= i
e =4

)20+ 10=0 || LV |[®100-10=H}
@io-o=mf [\ e o-0=m

4 (a) Divide 20 by 10.  (b) Share 30 equally among 10.
(c) 70 divided by 10 (d) 100 divided by 10
(e) Divide 0 by 10. (f) How many tens make 807

5 How many groups of 107?
(@) =

6 (o)l +10=6 () @+ 10 =1 () = 10=19

HOME ACTIVITY 17 Division: by 10



(b) 30 links

(d) 50 links?
2 (a)20 +5 (b) 40 = 5 (c) 0=+5
(d) 50 = 5 (e) 25 + 5 (f) 35+ 5

3 Share equally among 5 party bags.

4 (a) Divide 45 by 5. (b) Share |5 equally among 5.
(c) 30 divided by 5 (d) 20 shared equally among 5

(e) How many fives make 257

Division: by 5




2 Prizes are sold in packs of 5.
How many packs are used for

(b) 10 @

=

(a) 40

CHECK-UP 14 Bl HOME ACTIVITY 18 Division: by 5
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| Share equallﬁg ong 3 fugs.

--- -] AL & .'r =1 :
i ' 4 gy _ ; L
I 1 . =1 . 1 iy - s .'.l".l .
! 4 i - | - . A - i . .' 3 - :_ ..'_ N 3 ] .!'-Ijl
Division: by 3




| Divide equally among 3 children.

2 How many teams of 37
(a) 9 boys (b) 27 girls
(c) |5 children  (d) 2| children

3 (a) Divide 6 by 3. (b) Share 18 equally among 3.
(c) |12 divided by 3 (d) How many threes make 277

4 There were 26 sausages.
Patch stole 2.
Divide the rest of the sausages

equally among 3 plates.

5 (o) +3=5 (b)) @+ 3 =1 (c)l+3=10
(d) Bl + 3 =3 () =3=7 ¢ l+-3=0

CHECK-UP 15 i HOME ACTIVITY 19 Division: by 3




2 (a)8+ 4 (b) 36 + 4 (c) 24 + 4
(d) 0+ 4 (e) 20 + 4 (f) 16 + 4

3 (a) 4 divided by 4 (b) One quarter of 28
(c) Divide 40 by 4. (d) How many fours make 327?
(e) One quarter of 12 (f) Divide 8 by 4.




4 Follow the track. S —
Which car wins the race? 40 | + 4 = n|

CHECK-UP 16 i HOME ACTIVITY 20 Division: by 4




| How many teams?

(a) 10 girls in teams of 2 (b) 12 boys in teams of 3
(c) 20 boys in teams of 5 (d) 50 girls in teams of |0
(e) 27 children in teams of 3 (f) 24 children in teams of 4

2 Share equally among the teams.

(a) 8 ropes —»| 4 teams (b) 10 benches —| |10 teams
(c) 45 hoops —| 5 teams (d) 16 skittles —»| 2 teams !
(e) 40 balls —| 4 teams (f) 70 bean bags—| 10 teams

3 Find each number.

@ S ﬁ' (b) i
(e) ()
' e
4 How many balls” There are less
Py than 25 balls

[ can share them

equally among three
teams or four teams.

;e ,,'m _ = |
Division: by 2, 3, 4, 5and 10



| Divide equally among the children.

(a) 40 throws, 5 children (b) |16 throws, 4 children

R T Y

(d) 18 serves, 3 children

(f) 50 hits, 5 teams

(b) @ = 4 =9 (c) @ +3=2

e)l+2=0 ¢ H+10=3

3 (a) Divide 28 by 4. (b) Share 30 equally among 3.
(c) 40 divided by 10 (d) How many groups of 5 in 107
(e) Divide 21 by 3. (f) How many fours make 127
(g9) Half of |4 (h) One quarter of 32

4 (a) Half of the ropes are long.
How many ropes are long™: /|2 ropes 2; NG

(b) Half of the long ropes are red.
How many of the long ropes are red?

(¢) What fraction of all the ropes are long and red?
Division: by 2, 3, 4, 5and 10




| (a) double 12
(c) double |6

(e) double 20

2 (a) half of 36

(d) 5 of 22

(c) % of 70

4 (a) Half of 200
(c) Double 200
(e) Half of 500
(g) 5 of 1000

(b) half of 24
(d) half of 32

(f) half of 40

(b) half of 28 (c) half of 34
(e) 5 of 30 (f) 5 of 26

(a) 25 multiplied by 2
(b) half of 50

(d) half of 80 (e) 5 of 100

(b) Divide 600 by 2.
(d) 300 divided by 2
(f) Divide 700 by 2. _C
(h) Twice 450

Division: linking multiplication and division ACTIVITY BOOK

Page 28



2 Use the multiplication fact. Write two division stories.

(a) GOX2=2(D (b)<3x4=|2> (c) <4x2=8)

3 Write 4 number stories each time. LI # %

(a) —2— | : _|_9> (b) @ z 19_) y Lo Mme

Division: linking multiplication and division




| Divide |9 children equally among 4 mats.

(a) How many children are on each mat?

(b) How many are left over?

2 Find each answer and remainder.

(a) Divide the beanbags A
equally among 4 teams. _\23 beanbags

(b) Share the hoops
equally among 5 teames.

(b) How many balls are left over?

4 Which number am I?

(a) Divide me by 10 and my remainder is 7.
(b) When divided by 5 my remainder is 3.

(c) Divide me by 3 or by 4
and my remainder is 2.

5 Write a remainder clue for

Division: using and applying, remainders



| There are 27 children.

(@) How many teams
of 4 can be made?

(b) No more than 4 children

can sit at a table.
How many tables are needed?

2 é ' Each child must have 10 cards.

59 How many children can play?

W

i I.,_a

3 How many pairs of dice?

The dominoes are shared
equally among 5 players.

How many dominoes does
each player have?

5 Each shelf can hold 3 jigsaws.

How many shelves are needed
to hold 25 jigsaws?

Division: using and applying, rounding




| How much?

3 Lay out coins to buy each item. List the coins.

(a) (b)

£2'35

Money: coin collections with £1




| How many of each coin to make £27?

4 Which item is the (a) most expensive (b) least expensive?

5 Choose from
these coins.
List four
different ways
of making £5.

Money: coin collections with £2



(h) 950p (i) 728p () 504p (k) 96p

2 Write each amount in pence.

d) £935  (e)£361 (O £1'53  (qg) £629
h) £570 () £8:06  (j) £7-90 (k) £4-00

Which bank has (a) most monegfl;;l_éast money?

Money: pounds and pence




| List the coins in your chanae from £1 when you buy

2 List the coins in your change from £2 when you buy

3 How much does each child have left?
AV R\ [/ [ had £1].
;“ﬂ . §| Ispent
i 49p
] '."P" . ‘:II: "

4 How much does each of these children have left?

(a) Greg had . He spent 90p.

(b) Ray had

5 Suzy bought a toy. She paid with a £2 coin.

Her change was

How much did she spend?

HOME ACTIVITY 22 Money: change from £1 and £2




I Find how much money each child has.
5 (R

but less than the price of the i“"@f




| How much money does each child have?

-

Money: £5, £10, £20 notes



| List the coins in

."-‘.{ hi. sy )

2 Find the total cost of a
(a) ball and badge  (b) doll and pen (c) ball and doll

(d) truck and doll (e) pen and badge  (f) flag and badge.

Class | Class 3 Class 5
£1-60 £2-50 £4-20
IVI \Tf \Vf
IA\_ ;Ax IA\
Class 2 Class 4 Class 6
£1-90 £3-10 £4-70

3 How much money does each class still need to collect?

Money: change from £5 and £10, totals




| Find the cost of each order for comics. =,

(c) Monster
(d) Footie

2 For how many weeks must each
child save to buy the diary?

| Gaby bought 6 note pads.
W | How much was her change from £47

4 Find the cost of each of these books. iﬁ 40

e Pay for the brown book with a £1 coin.
Your change is 10p.

e The blue and brown books together cost £4-90.
e The blue book costs £1:20 more than the green book.

e The green book costs twice as much as the red book.

e The brown book is 50p cheaper than the red book.

Money: using and applying




Curry £4-30

List five coins to make

(@ 74p  (b)66p () £127  (d) £2-61

Paul and Salma each

have five different Paul Salma
coins.

(@) What amount does
each have?

(b) List other sets of five
different coins and the
amounts they make.

o O ©
o O
[ -w.__“qb_..{a'm
[ ]
L]

[/
\
\

f il _ry__
XA D
™ YYLYLY T
tam, =L ﬁ -..?-L-.-:

R

Burger £2:20

a

72O WS G S
VIR ..

Salad £1:10 * Chicken £8:80 [ —

(a) Which two meals can be bought for exactly £57?
(b) Which three meals can be bought for exactly £107?
(c) Which meals can be bought for exactly £6:507?

(d) How much is your change from £10 when you buy
Salad and Chicken?

Money: using and applying TOPIC ASSESSMENT




| What fraction of each shape is red?

Anna buys one half of each pie.
How many pieces of each pie does she buy?

3 (a) one half of 22
(c) one half of 24

(e) 3+ of 30 (f) 4 of 32

4 Find
(a) one half of 40
(b) one quarter of 40

(c) three quarters of 40

(b) one quarter of 20

(d) one quarter of 36

(9) 3 of 26 (h) 4 of 28

P00 0000 @®@@®

CHCNCECECRCRCECRCRC

Fractions: halves and quarters



How mang of these circles are coloured?

(a) & O
m..D - OO0
SNSISISISIS SEPOD

0 3 | 2 3 4 5 6 7

2 Count in halves. Write down each number

(a) from O to 3 (b) from 2 to 5

(c) from 7 to 4 (d) from 4 to |.

3 Which children are correct?

/" One half (Three quurter;
is greater than is less than
one quarter. / \_ one half.

-

Three quarten%
Is greater than
one half.

AGTIVIW BOOK
Page 30

Fractions: halves and quarters CHECK-UP 20




| (a) Divide each tray of rings equally among 10 people.

(b) Find one tenth of the rings on each tray.

(c) What do you notice when you

divide by 10 and find one tenth?

2 (a) one tenth of 30 (b) # of 90 (c) one tenth of |0

(d) - of 50 (e) one tenth of 70 () - of 100

3 What fraction of the pattern on the box is

(a) blue (b) green (<) not coloured? /

4 There are 80 jewels in the box.
One tenth of them are diamonds.
How many are not diamonds? . 4

ACTIVITY BOOK HOME ACTIVITY 24 Eractions: tanth of a sut

Page 31




N,

P Double s ‘
AR each 3
number. |

(a) 12 b)I15 ()18 (d)I9 (e) 50
)30 (935 ()20 @) 45 () 100

2 Write each number from the blue box with
its double from the red box.

(a) 24 + 25 25+25=50 | (b)25+ 26
@15+ 17

(e) 14+ |5 (£) 35+ 36 (g) 16 + |4 (h) 50 + 52

(a) 80 + 90 90 + 90 = 180 | (b) 90 + 100
(c) 55 + 60 60 + 60 = 120 | (d) 60 + 65

(e) 70 + 80 (f) 50 + 60 (g0 4> +50 (h)95 + 100

Addition and Subtraction to 1000: doubles and near doubles



| Add the numbers on the
(b) blue jars (c) green jars.

(a) 90 + 70 (b) 40 + 80 (c) 50 + 90

@30 +M=120 )W +60=130 ()70 + W = 110 [P

—_E.___: -;-—h——-‘___‘-

3 Find each total.

@ () 50 + 83 (b) 42 + 60 (c) 35 + 90

Speait

384\ (d) 70 + 57

(e) 40 + 48 (f) 66 + 80

5 (a) 84 + M = 104 (b) @ + 99 = 139

Additicn and Subtraction to 1000: adding o two-digit number and a multiple of ten, kb




I How many letters altogether?

it g T
[ =

. !

2 Who has more stamps?

I have I have

6| and 81.

(b) (©)

(@)43+9%  ()82+25 ()39 + 7
(d) 66 +53  (e)78 +58 ()33 + 79
‘(@87 +47  (h)24+97 (i) 57 + 86

Addition and Subtraction to 1000: adding two-digit numbers, bridging 100



(b) 842 add 7

(e) What is the sum
of 423 and 77

5 6
(b) 149 plus 8 (b) 526 + 7
(c) 216 add 6 (c) 3 plus 608
7

(a) 215 add 10 (b) What is the sum of 153 and 87

(c) How many do 10 and 536 make altogether?

(d) 6 + 498 (e) What is the total of 299 and 77

Addition and Subtraction to 1000: adding a three-digit number and a single digit, with bridging




(a) 347 + 9 347 + |0 = 357

(c) 263 + 9 rjl;l L\‘

() 415 + 9 *
@606+ EEE TS
wez+a Ll I

)

\

9 more ride in.
How many now?

I have || more
coins than Stan.

2 |52 knights in a castle.

(b) 347 + ||

(d) 263 + ||
(f)415+||

(h)8C13+ | |
(i) 758 + 11
M 279 + 11

I have 9 more
coins than Stan.

3 How clng coins does each king have?

Addition and Subtraction to 1000: adding 9/11 to a three-digit number




| Add the (a) red numbers (b) green numbers
(c) yellow numbers  (d) blue numbers.

&.\_'

|

|
ik

|

|

i

i

=
=
i

i

& )
2
(a) 340 add 30 (b) 230 + 60 (c) 50 plus 450 @
(d) Add 60 to 720. (e) Find the sum of 660 and 40
- i\.

3 Write the missing numbers.

°E]DOOOIODDEI .O.°

.
oooooooaoooeoooooooaoooooooooo“\

Addition and Subtraction to 1000: adding a three-digit number and a multiple of ten

ooaaoaoao\
O000000O0




| Add the numbers on tins of the same colour.

2 Make 1000.
| m (___(b) 300 + I) ( () 200 + .,_ )

(d) & + 100 (e) H + 600
£ | SCORE
() 800+ M) | o ~ ((9) 900 + [

' m (ﬁ_ﬁ(:i) H -+ 400__) (,_(__i_) B+ A+ Q)

I )l:E - rr - - P |
s L Bl ey a T o e L ¥ T R R L L R e O S e T ey (1YY gty = ey VNP A VST BH T
v e — - TN i » — = b= R e Ta———tlagis
_IF:.____ = [ ok e R T 810 .."_._.. S Bac Sla — b e B T R S S et et T LRSS SR [ECRY e i e T i e e T T T SR TR P
‘o % . -iie 44

4 H

3 1

| 3 ¥

3 (o) 300 + 47 (b) 11+ 100 (c) 900 + 99
(d) 400 + 145 (e) 386 + 500 (f) 202 + 200

(g) 600 + 237 (h) 491 + 400 (i) 188 + 800

4 (a) 57+ =857 (b) 400+ =909 (c) @+ I55=555

Addition and Subtraction to 1000: adding a two-/three-digit number and a multiple of 100




Barton School

303 children

Doon Valley School

42 children T
225 children
| How many children altogether attend
(a) Barton and (b) Doon Valley and
Elmwood Penworth
(c) Barton and (d) Penworth and
Doon Valley Elmwood

(e) Elmwood, Barton and Doon Valley?

2 |6 new children join Barton.
How many children are there now?

3 (a) 416+ 63 (b) 44 + |3 (c) 701 + 98
(d) 222 + 22 (e) 73 + 925 () 812 + 8|
(g) 345 + 200 + 42 (h) 230 + 21 + 5

Addition and Subtraction to 1000: adding a three-digit and a two-digit number




| 105 runners.

|0 drop out.
How many are left?

2 Subtract 10 from

(a) 303 (b) 501 (c) 604 (d) 400
(e) 708 (f) 910 (g) 202 (h) 809

3 137 spectators. 40 go home.
How many are left?

4 (a) 126 — 30 (b) 150 — 70 (c) 131 — 60
(d) 110 — 20 (e) 166 — 80 () 105 — 90

5 (a) 120 - W = 40 () | 14—l = 9%

Addition and Subtraction to 1000: subtracting |0/a multiple of 10




—x
(b) 258 — | |

(d) 325 — ||

2 (a) 19 @F— (b) 126 ==

9 are caught. |l fly away.
How many are left? How many are left?
My rod cost Py ree '
cost £107. Sue’s rod cost £1 |

£9 less than Sue’s.

more than mine.

o

3 What was the cost of (a) Tim’s rod (b) Ann’s rod?

Addition and Subtraction to 1000: subtracting 9 and | |




computer
£500

I How much more does the computer cost than
(a) the bike (b) the Hi-Fi?

2 How much cheaper than the TV is
(a) the computer (b) the Hi-Fi? (c) the bike?

3 (a) 900 — 600 (b) 300 — 100 (c) 800 — 700

4 Pam and Rod both buy a video.
How much does each have left?

5 (a) 727 — 300 (b) 399 — 200 (c) 940 — 600
(d) 844 — 400  (e) 706 — 500 ) 112 - 100

6 (a) 900 - @ = 200 (b) B — 100 = 385
(c) B - 700 = 237 (c) 586 — [l = 186

Addition and Subtraction to 1000: subtracting multiples of 100




s

AR

-~

_ 130 centimetres
PR " P& 1120 centimetres

- . r

i e,
5l o
2

| (a) How many centimetres taller than Ray is Meg?

(b) How many centimetres shorter than Li is Jo?

2 What is the difference in height between

(a) Ray and Li? (b) Jo and Meg?
3 (a) 262 — 258 (b) 593 — 587 (c) 725 - 719
(d) 312 — 309 (e) 47| — 466 (f) 650 — 644

T

"

200 metres

-. vew ""‘_E FPEVINES
FRVYE , vEvwe s i v VFVFRERS
EREETER S = EEEEE’E‘EE‘EE‘
Ve - sore ¥ VEFTRPREW
VOERERY e emoond i VPP RPPEESR
EEEEEEE ci il E R R FEVFNVRFVEWNRF
VEEEEEV FEEFEEW - - " - FVFERVVERWW
VEURORW FEREWEW oo el VERERRFEEY
ggggggg FEEREEW - E R FEvvRREeew
Tron B Pork CEREEEE  Uptown Sl Ciry HEEEEEEEEE
Tower B Hotel [  Cencre [St=t=is )| EEEEEEEEEE:
et - CENEENERNNENEF
203 m B 198 m B 20 m SRR 197 m FEEEEEEEE T
SISTSISTSTSTS EEPUEED e VEVFEPVFEREW
4 What is the difference in height between

(a) the Tower and the Hotel (b) the Hall and the Centre
(c) the Centre and the Hotel (d) the Hall and the Tower?

5 (a) 303 —296 (b) 401 — 395 (c) 503 — 499

(d) 903 — 898 (e) 602 — 594 (f) 700 — 693

6 (a) 563 -l = 556 (b) 806 — W = 798 (c) @ - 4 =299

Addition and Subtraction to 1000: small differences




< Upper Stand Lower Stand

500 seats 304 seats
¥ — 1 T

| How many seats are there altogether in the Stand?

There are only I have sold

60 tickets left L, 299 tickets

for the Upper  ( for the Lower
Stand. o Stand.

2 How many tickets (a) for the Upper Stand have been sold

(b) for the Lower Stand are left?

3 200 Lower Stand tickets have been sold to adults.
How many have been sold to children?

D

Ian’s number is
double mine.

is Il less than Ian’s.

My programme My programme numbe
is number 160.

4 What programme number has (a) Ann (b) Sam?

5 Find the winning

—_—
number.

Addition and Subtraction to 1000: using and applying

6 less than 503 minus
the sum of 230 and 70




How nl_-J maths textbooks altogether weigh <&
(a) about | kg (b) about %kg?

The melon weighs The tin weighs
more than 2 kgq. less than I-;—kg.

2 Write about the weight of each of these items.

3 Find an object which you estimate
weighs between 2 kg and 3 kq.

Weight: kilograms and half kilograms




The rice weighs about

2= kg | or | 2kg 5009

2 Fill a large bottle with water.
Find its weight.

3 Weigh out | kg 500g of sand
into a box.

Weight: kilograms and grams




/L—’_‘——\ ,/ —

anrnﬂukes%
4009
' Beans |
- e (8
300g

| Which items weigh
(a) more than -;-kg (b) less than -‘.!;kg?

2 Whlch two items together weigh
(a) 3 kg (b) | kg? (c) 15 kg?

3 Which three items together weigh | kg?

500g 30 kg

5> Choose the weight for each item.

o B3 [o) [s] [@a] [

e 3004 - 30kg 300kg

4 Match each item to its weight.




Use a half metre strip.

| Measure these lengths. Label them as

shorter than % metre | OF | longer than % metre

AT T ST SR S e S . e " e, .

2 Find two objects

(a) each about %m long (b) with lengths longer than

%m but shorter than | m.

The bench is about
27 metres long.

/ | m I m
3 Use metre sticks and object length
half metre strips to T abiout 5
measure some objects. desk
bookcase
table

Length: the half metre




10 20 30405060 7080 90 |

The rope is about Im 70 cm long.

| Estimate then measure.

(a) width of the board

(b) length of 5 maths books

(c) your height (d) a friend’s height

(e) width of
a door

(f) length of a floor mat

2 Find two objects which you estlmute
are longer than 3 metres.
Measure to check.

Length: metres and centimetres



| Find the length of each object.

10 12 134 IR0

I [ !

|'|:2' |:3' |:4' |:5' 6

— 2 ¥ & & & 7'8'q'|:0'|

(f)

2 Measure each line. Write its length.

(a) (e)
/
(b)
(©) /

() ———

3 Draw lines of these lengths.
(@) I0cm (b) 3%cm (c) 6cm (d) IZ% cm

Length: centimetres and half centimetres




92

Use a tape measure and work with a friend.

T——'#—T"T’-TI'I|3,7I|3[8|JIT-T-&"!' 1 T ] ] L
33134138 190 T B 10140 141 14 45 44 145 146 147 148 '4.°‘

| Measure the distance around
(a) your head (b) your neck (c) your chest

Length: using a tape measure




Use small counters.

I How many counters are needed to cover each footprint?

(a) duck (b) baby

(c) dog (d) cat

2 Which footprint covers
(a) the greatest area
(b) the smallest area?

3 How many counters are
needed to cover your handprint?

Area: non-standard units




Find the area of each shupe In squares.
2 Which shape has
(a) the greatest area (b) the smallest area?

Use squared paper.

3 Draw and colour a shape
with an area of
(a) 10 squares
(b) 20 squares
(c) 30 squares.

4 Draw two different shapes each with an area of 24 squares.

Area: non-standard units




95

Find which containers hold
(a) less than % litre

| .
(b) about > litre

IENT
(c) more than = litre.

2 You need four tubs.

Measure into each
tub the amount on

its label.

o

2litres

3 You need three containers like these.

)

1§l

Estimate then measure how much each can hold.

Capacity: the half litre ACTIVITY BOOK
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| How many litres of water are used altogether by
(a) Jake and Alex  (b) Alex and Kate (c) all 3 children?

2 How many more litres of water are used by
(a) Kate than Alex (b) Alex than Jake (c) Kate than Jake?

3 How can Elsie measure 3 litres
of water into the basin?

Tl i o'

The bubble bath machine holds | litre.
How many of these bottles can be filled?

(a) 100 millilitre bottles (b) 200 millilitre bottles

5 Find the different ways in which 100 and
200 millilitre bottles can be filled.

Capacity: using and applying




JULY

Mon| Tue (Wed| Thu | Fri

| 2 3

6 7 8 4 10

13 14 | I5 | 16 | |7

5 20 | 21 22 | 23 | 24

oS 2 [36 | 27 | 28 | 29 | 30 | 31
7R

| How many days of the month shown are
(a) Mondays (b) Thursdays?

2 On which day of the week is
(a) 7th July (b) twentieth July

3 Whatdayis it
(a) the day after 23rd July (b) three days before 6th July
(c) one week after 4th July (d) two weeks before 28th July?

(c) 31stJuly?

4 What is the date on the
(a) third Wednesday of the month (b) last Friday of the month?

5 What day of the week will the Ist of August be?

You need a calendar for this year.

6 Write the names of the months with (a) 3| days (b) 30 days.

7 On which day of the week is
(a) Christmas Day (b) April Fool's Day (c) New Year’s Day?

Time: the calendar



| Copy and complete each time.

quarter past — quarter to —

(e)

— o'clock quarter to — quarter past

2 Write these times using

or | half past | or |quarter past| or .

(9)

Time: o’clock, half past, quarter to/past




Times: writing times

| Write these times.
(a)

two o’cloc@

(9)

Gmrter to eig@

2 Write
(a) the earliest time

/

—t

, 2 FH "
r<——%

f? 6

3 Write these times in order starting with the earliest.

8.00 /.45 6.30 7,13




F—-__.—— ——— e — — =

) Our Dag Out bg Cla._ss 3 ]

—_— = — T ———

Eatlng our snack”

Buck to school *
Ie ~EEigA E)

3.45 pm

’Lu::

I Where was Class 3 (a) before 12 noon (b) after |2 noon?

2 Write these times. Use am or pm.

(b)

Half past three

(d) =t (e)

Four o’clock in
the afternoon.

Quarter to eleven
in the morning.

3 Draw two things you do
(a) before 10.30 am (b) after 4.45 pm.

0 ACTIVITY BOOK ll CHECK-UP 25 Time: am/pm
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The time is 5.40. |

(b) (<)

(e) ()
(g) 20 minutes past 2 (h) 25 minutes to | |
(i) 10 minutes to 6 (i) 5 minutes to 9
(k) Quarter to 4 () 10 minutes past 7

2 Write in order, starting with the earliest.

@ %/ Twenty-five o Y @Glf past eight ol
\_ <_ minutes to eight. L s R
y K] 7 s 5 /4 o 4

Time: minutes past/to the hour



| Write each time from Ruth’s day in a different way.

i-‘“"' e
5 mmutes past 5

ACTIVITY BOOK l CHECK-UP 26 ll HOME ACTIVITY 26 Time: minutes past/to the hour
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CV T T T T 7 78 0777777
Jane’s bicycle trip log
efgy time place
A 10.25 am | leave home
B /0.45 am | cross bridge
C 10.50 am | pass school
D [1.15am | enter park
E [1.45 am | leave park
F 12.25 pm | return home

e —

How many minutes are there between each entry
in Jane’s log?

How long after leaving home did she pass the school?

How long after crossing the bridge did she enter
the park?

How long did Jane’s bicycle trip take altogether?

Where was Jane (a) (b)
at these times of

the morning?

Time: durations, using and applying




| Matt leaves home at 8.25 am.

The journey to school takes 25 minutes.
At what time does he arrive?

2 A maths lesson starts at 9.20 am.
It finishes at 10.00 am.
How long does it last?

3 Morning break lasts for 20 minutes.
It ends at 10.50 am.

At what time does it start?

4 Complete the missing entries from Matt’s

afternoon timetable.

5 School ends at 3.30 pm.

Matt’s swimming class starts 2 hours later.
The class lasts for 35 minutes. ‘
At what time does it finish?

A

Time: using and applying




| Find shapes like these.

ol

(a) Name each shape.
(b) Which shapes are prisms?

2 Name each of these shapes.

(a) (b)
I have one I have twelve
curved face and equal edges.

one flat face.

(c) (d) I have some
I have two .
triangular faces
edges and no : .
and six vertices.

vertices.

3 Write clues for each of these shapes.

B — = (b)

3D shape: identifying shapes



| Build shapes like these.

(b)

(<) (d)

-
2 Which of these shapes are not prisms?

3 Use shapes like these. @
(a) Build a prism.

(b) Sketch your prism.

(c) Build and sketch a different prism.

3D shape: building shapes




| Use cubes to make these shapes.

Vi

ok !

/

o i
el ((/

2 Make as many different shapes as you can
using four cubes.

3 Tell afriend how to build these shapes.

Start with

a large red
cuboid...

3D shape: using and applying



| Use two triangles to make
each of these shapes.

triangle  quadrilateral hexagon

2 Make then draw
(a) a different triangle (b) a different quadrilateral

(c) a different hexagon (d) a pentagon.

3 Use two rectangles to make each of these shapes.

=

rectangle hexagon octagon

4 Make then draw
(a) a different rectangle (b) a different octagon.

5 Use two squares to make then draw
(a) a rectangle (b) an octagon.

ACTIVITY BOOK 2D shape: making shapes
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| Draw whatisat (@)B3 () D2  (c) Al.

2 Write the positions of

(a) =3 (b) = (c)

3 In which squares are there trees?

4 VWrite the squares the » passes through.
Start at B3.

Position, movement and angle: grid references ACTIVITY BOOK
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volcano

You are on the reef.

I 'What do you see when you look (a) North (b) East?

2 In which direction is the (a) raft (b) volcano?

3 Face North.
What do you see when you turn through
(a) a right angle clockwise®  (b) a right angle anticlockwise
(c) a half turn (d) a whole turn?

4 Face West.

In which direction are you facing when you turn through

(a) | right angle anticlockwise (b) 3 right angles clockwise
(¢) 2 right angles anticlockwise (d) | half turn?

5 Draw your own island with hills in the West, a tower in
the South, a wood in the North and a lake in the East.

O ACTIVITY BOOK Position, movement and angle: compass directions
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How many lines of symmetry does each shape have?

- (b)’ © AT,
A (E) m %
2 How many lines of symmetry does each letter have?

(<)

I
(a)
(d)

K 1

Which shape completes the symmetrical letter?

3 1 (a) (b) r
4 | || (a) | ‘ (b) ‘ (<)

2D shape: line symmetry ACTIVITY BOOK
Page 41




S

{Eﬂ”
| Class 3 visited four parks. Favourite Parks
Which park was
(@) P Park
* most popular
* least popular? Safari
Water
(b) Which parks had Theme
* more than 7 votes Marine

* less than 7 votes?

() How many children voted for parks with animals?

Park |Votes
2 (a) Find out which of the 4 parks S ofarile

children in your class would most ~ ~————
like to visit.

(b) List your results in a table.

(c) Which park is
* most popular
* least popular?

(d) How many children voted for

either the Water Park or the Theme Park?

Data handling: frequency tables




=

Number
of
children

© = N W NN U1 60N O D

Spooky Scary Slimy Creepy

| How many children rode
(a) on Spooky (b) on Scary
(c) on Slimy (d) altogether?

2 How many fewer children rode on
(a) Scary than Spooky
(b) Creepy than Slimy
(c) Spooky than Slimy?

3 On which boat was the number of children
(a) greatest (b) smallest
(c) an even number
(d) two more than on Spooky

(e) double the number on Scary
(f) the same as the number in

Scary and Creepy together?

Data handling: bar charts ACTIVITY BOOK
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Waiting Times

Swing
Boat

Parachute

| Which ride has the

= Log
shortest waiting time? Flume
2 Which ride has a Roller g

il Coaster|
waiting time of i

(0) 10 minutes 0 2 4 6 810121416
zb)) I; m.mutes Time (minutes)
c minutes

(d) 15 minutes?

3 How much longer is the wait for the Parachute ' - -
than for the
(a) Log Flume  (b) Swing Boat  (c) Big Wheel?

4 VWhy do you think each ride has a different waiting time?

ACTIVITY BOOK Data handling: bar charts
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| Which neck style is Neck
(a) most common style
(b) least common?

2 How many children
have these styles? = Number

f
@ N & AN childneg
O AT AN

3 How many children
are there altogether?

Number of tops

5 How many tops are
(a) plain (b) striped (c) checked (d) hooped?

6 Which pattern is on half as many tops as
(a) the plain pattern (b) the striped pattern?

Data handling: pictograms, symbol represents 2 units ACTIVITY BOOK
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| (@) Sort a set of flat shapes
Into two sets:

4sdes | | Tus |

(b) Draw the shapes in a
diagram like this:

4 sides I

(c) List the shapes with 4 sides.

2 (a) Try to sort the shapes into four sets:

4 vertices 4 vercices | il sides
= =} — same length

(b) Draw the shapes in a diagram like this:

ﬂwces._-l B @

all sides
same ieng!:_h

Q¢ 90 9 4

(¢) Name a shape
* with 4 vertices and all sides the same length
* which does not have 4 vertices and
does not have all sides the same length.

Data handling: Carroll diagrams




Numbers
greater

Multiples

of 5 than 50

| (a) List three other numbers for

* the yellow part 5 multiples of 5
* the blue part —— numbers greater than 50
* the green part 5 multiples of 5 and

numbers greater than 50.
(b) In which part should 50 go?

Explain.

2 (a) List 8, 23, 32, 71 and |2 other
numbers less than 80.

(b) Sort your numbers into two sets:

Numbers

Multiples

between of 4

20 and 60

(c) Write your numbers on a Venn diagram like this:

Numbers
between Muh;lﬁles
20 and 60 D

(d) Which numbers did not fit inside the circles?
Why not?

Data handling: Yenn diagrams
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